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= 106,500
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OMOISSEX0IE 60,0002 %7232 %63l 7,560
01 YsrBA 95,850 95,650 200
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OMOISE2DSY D 41,760
-01 | 60,0002 +160% *22 9,200
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-~ A2y 7,0002! ¥502] 13 4,550
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60,0008 *352 2,100
OHIZHN &I SSEstssAL 0]
60,0008 *352 2,100
OMOt2E2D 2803 60,0002 x40 2,400
OMOISRESAN HANA2RR albl2a
20,0002 *20% %63 2,400
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60,0002 *30% =2 3,600
OMOI22S ®2 % =043l &Jtolt|
60,0002 +33% »23] 3,960
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20,0002 502 * 12 1,000
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O2=0l MOIZ2S NSEIIK 34
7.0002! +60% +32 1,260
303 EaZ 7,100 7,100 0
01 Za2 7,100 7,100 0
OHAISl S2RADI| 25 A4S 7,100
-5 e 2,000,0002 2,000
-4 2,500,0002 2,500
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OMOIZ2XEX It &3 45,000, 000& 45,000
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= 110,000
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